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242 —x+A = (2x-3)(x+ B) B& A+E3| 2 uf, A+ B 9] gr2?

(2x - 3)(x+ B) = 2x* + 2Bx - 3x — 3B
=2x2-x+A

2B-3=-1,B=1

-3B=A,A=-3

L A+B=(-3)+1=-2




2. 20x® 4+ 22x+ A = (4x+ B)(Cx + 3) ¥ W, ABC 9] gtog dure
AL WY

® 40 @60 ® 70 @ 90 ® 100

B )

(4x + B)(Cx +3) = 4Cx? + (124 BC)x + 3B
4C=20, .C=5

12+ BC =22, .B=2

A=3B, . A=6

.. ABC =60




3. 324 Tx—6=(x+3)Bx+[_)olA[ Jotel &k
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3x2+7x-6=(x+3)(3x-2)
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® - V49 = -7

V0.01 = 0.1




7. (-4 (x-2)(x+1)(x+3)-25=Ax*+ B3 +Cx* + Dx+EY
™, A+ B+ C+D+ E?2| gk& FoHH?

@ -2 (@)—1 ® 0 @ 1 ® 2

S5 ~
(x-4)(x-2)(x+1)(x+3)-25
={(x—4)(x+)H(x-2)(x+ 1)} -25
=2 -x-12)(x*-x-2)-25
x?—x =12 A &sto] F2stA (1-12)(r-2)-25 = 2 - 14¢-1
X2 —x=1t= YU H x* — 243 + x2 — 14x2 + 1dx—1 = x* -
2x3 —13x% + 14x -1
2t A+B+C+D+E=1-2-13+14-1= —10°]|t}.




D(x+2)(x 4+ 4)(x + 7) & AAA A x2 o] Aot Ao
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L=laee

@ -2 ® 8 @ 14 ® 28
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(x=1D)(x+2)(x+4)(x+7)

={(x=1)(x+H(x+2)(x+4)}

= (x® + 6x—T7)(x*> + 6x + 8)

x2 0] o= &2 8x% + 36x% — 7x% = 37x2 0|t} wEhA x2 9
AL 37011, AZeHE —560] HEZ 29 A%et A5
2 37 - 56 = —19°]t}.




9. (x=2)(x=1)(x+1)(x+2)°lA x* o] AFE F5toi=t.

(x=2)(x=1)(x+1)(x+2)
={(x=1)(x+ DH(x-2)(x+2)}
=2 -1)(x®-4)=x*-5x>+4
wfebA] 28] A4t 5]k,




10. 4x% - 24xy + 36y — 16 & F 432 o7
A2 o g ool

(—,7._‘—/:}) :4(x2—6xy+9y2) - 16
=4(x-3y)*-16
= (2x-6y+4) (2x— 6y —4)

© (2x=6y+4)+ (2x—6y—4) = 4x— 12y




11. x% - 2xy +y? - b2 Q15Eofoto]et,

x% = 2xy + y? — b?

= (x% = 2xy +y?) - b?
= (x-y)* - b?
=(x-y+b)(x-y-b)
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A1) = X2+ dxy + 452 = 9
= (x+2y)* -9

= (x+2y+3) (r+2y-3)

L (x4+294+3)+(x+2y-3) =2x+4y




13. a-b=2<L W, a®-2ab + b* + 4a - 4b 2 Fr-< F5}oizt.
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a? —2ab + b® + 4a—4b = (a—b)* + 4 (a - b)
=224+4x2
=4+38
=12




14. a=2V2-4,b=3+ V2% W, 4> — 4ab + 4b*>2] FF& F5loizt
=1

>
> = 100

B

a® — 4ab + 4b* = (a — 2b)?
= {2v2-4-23+ VD))’
=(2V2-4-6-2V2)?
= (-10)2 = 100




15. a+b =591, ax+ bx —2ay — 2by = 20 & W, x% — 4xy + 4y? ¢
= Fshozt,
> &

> HEg: 16
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ax + bx — 2ay — 2by = x(a+ b) — 2y(a + b)
=(a+b)(x—2y) =20

5% (x—2y) =20, x—2y=4

X2 —dxy+ 4y = (x-2y)2=42=16




16, f(x) = Vx+2-vVx+ 1L, £(0)+£(1)+f(2)+ - -+£(99)+£(100)
o] gr& F5hH?
O -1 @ V101-1 @\/10_2—1

@ V102- V101  ® V102

B

f0)=V2-Vi=-1++2
f)=V3-V2=-v2+ V3
f(2)= Vi- V3=-V3+ V4.
£(99) = V101 - V100 = - \/WJM/W
£(100) = V102 — V101 = — V101 + V102
S f0) + F(1) 4+ f(2) + -+ + £(99) + £(100)

= -1+ v2-V2+ V3+-V3+ Vd+--- - V100 + V101 -
V101 + V102

= =14+ (V2= V2)+ (V3- V3) + (V4 +---— V100) + (V101 -
V101) + V102

~1+4(0) + (0) + (0) + V102

-1+ V102




17 a=-vV3, b= V28 W, a®+a+b>+b 9 F& Foteiet
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a®+a+b+b=(-V3)>+(-V3)+ (V2)?+(V2) = -3V3-
V3+2V2+ V2=-4V3+3V2
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19. oz AFZEE ol8sto] Vb5 9] Y& FohH?
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® 5.93 @ 17.56

@ 7.50
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‘ V55 = V2.2%x 25 = 5v2.2 = 5 x 1.48 = 7.40




20. H=9 B AR 4ot o] E ]85t —

Eal 0 1 2
1 1.000 1.005 1.010
2 1.414 1.418 1.421
3 1,732 1.735 1.738
4 2 2.002 2.005
5 2.236 2.238 2.241

> [l J

> HEehl 0.0472

1 ( 2) V5 2 2236

— (1-=) =22 =204

V5 V5

3
=0.4472 - 0.4 = 0.0472




21. ool mEAF RS Aol ol wE olgstel - (V3
2 V3
o] & FotH?
- 0 1 2
1 1,000 | 1,005 | 1.010
2 1,414 | 1,418 | 1.421
3 1,732 1,735 1.738
4 2 2.002 | 2.005
5 2.236 | 2.238 | 2.241
6 2.449 | 2.452 | 2.454
7 2.646 | 2,648 2.650
8 2.828 | 2.830 2.832
@® 1414 @ -1.732 ® 1.732
@—2.449 ® 2.449
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